71 o] Yol @ a 914 7

SHA 2.

2:50(:m

~
~ -

| 2
> HehD 0.2a

—
-

~~-800cm---"""

o

la = 100m2 = 1000000cm?
ZIAFZE o] Ylo] 1 800 x 250
=0.2(a)

= 200000 cm?
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150m
/

T-300m- -
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M 450a

la = 100 m?
ZIAFZES o] Yo] 300 x 150 = 45000 m? = 450a
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100
HE D 100
HE 10000
HED 1000
HE D 1000
HED 1000000

lha = 100m x 100m = 10000 m? = 100 a
1km?2 = 1000 m x 1000 m
= 1000000 m? = 10000 a = 100 ha




1km? = 100 ha = 10000a = 1000000 m?
6 km? = 6000000 m?




5. |:|‘?l’°ﬂ o7 & A= F5HA L.
4.7km? = I:lha = l:lm2

> E:

o

470

vV V. V¥
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f . 4700000

1km? = 100 ha = 1000000 m?
4.7km? = 470 ha = 4700000 m?
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58000m® =] Ja=[ |ha
> E

[> Heh. 585.8

10000 m? = 100a = 1 ha
58000 m? = 580a = 5.8 ha
[ Jetol Eo1z 4-9] $H2 580 4 5.8 = 585.8 YTk,




4000m? =[ =] Jha
> E

> Hehl 404

4000m? =40 a = 0.4 |ha

10000 m? = 100a = 1 ha
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> ®HE D 100

> ®HE D 100

> g ﬁ

> "e %

~&B

1km? = 100 ha = 10000 a = 1000000 m>
el 2= W= 100, 100 ]2,

L = 1 1,
otef= e = 100 ° 100 Ayt




10. % Yol2 Wlmsto] > = < 2 A4 LEhjA Q.
5.6 ha O 550000 m?

> E

> ®HY:. <

5.6 ha = 56000 m? < 550000 cm?




11, 5¥1e] Zol7k s o], ofle] Zol7t 14m , ol om 91 Abek
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99 m?
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L

(8 +14) x 9 + 2 = 99(m?)




12. [ oo gwre 52 mEone,
50600g =[]t

o

>
> Hehl 0.0506

0.

1t = 1000kg = 1000000 g
50600 g = 0.0506 t
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oA 4 §7
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52

- 5000g = Dkg
-4t =Qkg

- 900ke = Bt
14t =D@g
-0.12t = @kg

@ 5 @ 4000 ® 0.9
@ 1400000 ®n2

1kg =1000g, 1t = 1000kg
® 0.12t = 120kg
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AE Lot D= UER AL gt BI]o A &gk

FAE Ta-_‘ﬂ
Ao Atz o 2A L.
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H7]
g, kg, t

(1) 1709 BA1%E 2000 | Ao
(2) 27|29 ERAE GolRY 2 |oldHYTh
(3) $-7] ofutE ] AalHolel= Ho 1050 |7HA] Ae 4= gyt

F71g o] FAE t o2 YehfE Ao] Agsiych
- (1) g (2) t, (3) ke
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(2) 8(3) t(4) ke

- kg

o £

272
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16. 715 skl O bl >, =, <
0.25t O 2500000

> E

> AE <

0.25t = 250 kg = 250000 g
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Ad=2aho] B 1 40 x 100 = 4000( kg) = 4(t)




18. &3 Zzio] A= 20kg YU T & 100 Ze] FA= 2 t 917
oA L.

cCh -
=

[

>
> ™t 2.4

21003 9] A 1 20 x 100 = 2000( kg) = 2(t)
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We 52 MY OO (FL
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/
~400cnt
> © m?
> e 20m?
> =g 200000 cm?

400cm = 4m ©|E2 4 x 5 = 20(m?),
1m? = 10000 cm? °]| 22

20m? = 200000 cm? YU},




10000 m? = 100a = 1 ha

1km? = 100 ha = 10000a = 1000000 m?

[ ]gtol &1 59 §-2 100 + 1 = 101 Ytk




21. thg % Heolol Bl

i
b
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HIE e ol AU

@® 2km? = 20000a @ 6ha = 60000 m?
@40 km? = 400 ha @ 500 ha = 5 km?

® 70000m? = 7ha

® 40km? = 4000 ha




22. g F HhE7] Uy AL ol AU

® 13ha=130a @)1.8km? = 18000 a
® 5.6km? = 5600 ha @ 92000a = 92ha

® 8.5km? = 850000 m?

B

@ 13ha = 1300a

@ 5.6km? = 560 ha

@ 92000a = 920 ha

® 8.5km? = 8500000 m?
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@ 0.56 km? © 800m x 200m
© 0.48km x 270m ® 64ha
@ 5740a
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5% 2o g9z TAA HgU,
@ 0.56 km? = 5600a

© 800m x 200 m = 1600a

© 0.48km x 270 m = 1296a

® 64 ha = 6400a

@ 5740a

®@>0>0>0>0




24. b= FEHotEA HeR W2 A2 ol AJUR

® 0.21ha @ 3000 cm x 45 m

® 5800a @ 1.43km?

@1.41 km?

B

T 2o w92 1A A vt
@©0.21 ha = 2100 m?

@3000cm x 45m = 30m X 45m = 1350 m?
®5800a = 580000 m?

@®1.43km? = 1430000 m?

®1.41 km? = 1410000 m?
@>0>0>0>0
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AA] F5HA 2.

Z3taF (kg ) | 890 | 759

594

it
|

vV V¥

Hehl 2916 ¢

890 + 759 + 673 4+ 594 = 2916( kg)
— 2.916t
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